H & 0l & AHS B Ml A

20238 =0lIet =X SE3H &X
A NSEM
33 IS
ol EETEAN BY(EXE SYs) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
wWSF M 2,042,441 1,810,695 231,746
= 7,000
Al 219,500
[Ea 1,815,941
nSHF Mo 1,630,688 1,428,777 201,911
= 7,000
Al 219,500
T 1,404,188
THNEAN HE(FXHE SEIA) 1,630,688 1,428,777 201,911
= 7,000
Al 219,500
o 1,404,188
SEHFEXN N B 1,570,688 1,293,777 276,911
= 7,000
Al 183,500
o 1,380,188
101 21AH| 183,698 165,517 18,181
04 JIZtN2Z2XNSE+ 183,698 165,517 18,181
OFHEIMc &tz 2 33,122
OJlEZ=s 76,9603 x2H 128 19,702
Oxg=dg 76,9603 x2H 56 8,620
O=gH| 5,000& x2& 128 1,280
OusSH| 5,0003 2 128! 1,280
OtE+E 1,440
RN} 40,0002 x2H 62 480
. EHIE 80,0002 2 +6= 960
Og &=yl 400,000 x2E*13] 800
OS¥F3I Nk, o 45,099
OJlEZ=s 79,6703 x2B 167 26,610
Oxg=g 79,6703 x2H »78L 12,429
O=gH| 5,000& x2& 167 1,670
OuEH| 5,000 2H 167 1,670
OJ&E=g 1,920
RN} 40,0003 x2H«8 640
. &bl 80,0002 x2H+8& 1,280
Og &=yl 400,000 x2E *13] 800
O™ =XEAN A 105,477
OJlZ=s 79,6703 x 123 ~p4L 61,187
Oxg=g 79,6703 x 12«28 26,770
OF=F{:] 5,000& x12& 64 3,840
OuEH| 5,0003 %128 »64! 3,840
OJ&E=g 4,320




2N DEFBY
Hm: DEHE T
chel: FEXAN E(ERE SYs) (crol: & 2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
o B 40,0002 x12H+3& 1,440
. &8l 80,0003 x12H+32 2,880
Og&E=Itd| 400,000 x12& %13 4,800
Ol =H| 720
E) 20,0002 *12E 12 240
. 22 20,0003 %1213 240
. 24 20,0003 *12Z 12 240
201 et 3| 466,710 454,980 11,730
01 At 22|l 99,110 91,940 7,170
ogLt~=ZH| 75,830
O=Xtelgr DTN 7L
65,0003 502} A 3,250
OZetZed EH +¢ 4,800,000& 4,800
OLNMEEE S8 EH 78
200,000& *7H 1,400
O=&xt ZAX=zd 2 45,080
S 170&+50,00001*22] 17,000
. S 65,0003 * 1200 S &4 +363] 28,080
O8RS A 20,280
40t 65,0002 601 S 01 %423 16,380
AA101 Y 65 *10,0000H+65 3,900
Od=Jl & SIIFEI| iz 1,020
. )| iz 50,000& * 128 600
. SIEEI Xz 35,0002~ 122 420
o=z 8,000
OREYLEX S2X Y HFYFXICHS
8,000,000& 8,000
OYXZ(EY=FHI Xt 2135HUE)
100, 0004 100CH 10,000
o2gsg 2,520
OFFTLL AADSAAAAS| EA%
g 70,0002 x3&* 122 2,520
ou=Hl 2,760
Oodet= 200,000 62 *13] 1,200
Ooz282= 80,0002 x6H *23] 960
O2Rst 50,0003 x6 & *22] 600
02 S22l 367,600 363,040 4,560
08E2= € MA 237,040
OFeles It 99,600
L= 1,200,000~ 128 14,400
. St 100,000 *71CH*12& 85,200
O=gxtExtE 6,400
o ASIHA 500,000 =4CH 2,000




2N DEFBY
33 IS
ol EETEAN BY(EXE SYs) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
. SENLRES 50,0002 *4CH =23l 400
. 288 1,000,000 *4CH 4,000
OoRERs 131,040
SOIDAN 2s U #=2
2,530 4,000+ 12 121,440
 YHDRIN P U R
4002 *2,00024 % 12& 9,600
OAIEZEHl S 96,960
OnFEA! &ttt R
80,000 *71CH*12& 68,160
OSH=FX 0ISHHAAYE RAE
4,000,000 34 12,000
OSY=EX ENLE ALY A2+
900,000 * 12 10,800
Odg=sdny HAZ2 8 RAEs
500,000 * 122 6,000
Oxtgrset] 33,600
OR&UH 500,000 «4CH*12& 24,000
(@FS]=[EINs] 200,000 «4CH* 122 9,600
202 04| 13,800 13,800
01 =LHOHI 13,800 13,800
OR2I0iH| 12,000,002 12,000
OExIT=E HEX A8
300,000 x6H «13] 1,800
301 EtE N = 57,480 57,480
11 #AIAMHIXIZ S 360 360
OFXtetE3 MK AHNMT)
30,0002 6 *23] 360
14 JIEt2 a3 57,120 57,120 0
OgdFXES A FAUF0E 2]
10,0002 x42& *103| x 122 50,400
OBMFEXTS HE 29=
80,0003 x422H +23] 6,720
401 AIZHIX 20 404,000 384,000 20,000
01 AlZH| 404,000 384,000 20,000
OF=Z X=X+ HAILAIE=S &bl 384,000
O=EXt=Xl =X 300,000 *300HK 90,000
OFE X=X X =M
12,000& *10,000m 120,000
OesEs 45,0002 *2,0007H 90,000
Ooscte 420,000& 20004 84,000
OLFA =&3t0ct 014
5,000,000 *4JH 2= 20,000
405 AHaHE = 445,000 218,000 227,000
= 7,000




A NSEM
M pEHH M
ol FEFEA SR(ENE SH5IH) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 183,500
s 254,500
01 AL =S F = 445,000 218,000 227,000
O=YH=dxt &8 2 445,000
Ottsxteg WA+
60,000,000 1CH 60,000
= 7,000
Al 3,500
= 49,500
OTxie: S m A
25,000,000+ 1CH 25,000
OSYHFEX S5IH0e M7EX
40,000,000 *9CH 360,000
Al 180,000
s 180,000
=M F=X0tE &8 30,000 30,000 0
Al 21,000
Ea 9,000
402 2IZtA=01d 30,000 30,000 0
Al 21,000
s 9,000
02 RIENEASEZ(0IETHR) 30,000 30,000 0
OUEFXHE 2T AL
3,000,000 10 30,000
Al 21,000
= 9,000
24 =X R g X 30,000 30,000 0
Al 15,000
Ea 15,000
402 2IZtA=01d 30,000 30,000 0
Al 15,000
o 15,000
02 BIENEASEZ(0IETHR) 30,000 30,000 0
OREFEINT 2B WY KA
10,000,000 *39H 2 30,000
Al 15,000
T 15,000
HH2LZH(NSFHD) 411,753 381,918 29,835
QIR HHI(FXE SLE3IIAH) 411,753 381,918 29,835
QIR HH|(FXE SE3IH) 411,753 381,918 29,835
101 21AH| 379,761 353,426 26,335
03 SR (RIH )22 U2+ 379,761 363,426 26,335
OS"g=Fit t=3(69) 379,761
OJlZ=s 2,885,100 «6E « 12 207,728




2N DEFMY
M HY2IZH(nSIE
Tl QIS (F Y SEalH) (15 212
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OJEsY 11,520
. BHS Xt 40,0002 +6H*12& 2,880
. &=.HIS 120,000 x6F 122 8,640
O Xt 112,696 x6H 15 10,143
Oo&E=ZzY 73,028
o TR (6YH)
14,0873 x48A| 2+1 556« 12 73,028
OoFzsY 16,728,600& 16,729
O 23 5,640,000& 5,640
OYE IOt 2,885, 1003 +60%+6 B 23] 20,773
Otielars| 50,0002 x6H * 12& 3,600
(@FSELF=Eala] 140,000 x6H 122 10,080
OXEsdEg 70,0003 «6F =123 5,040
OXREZH| 105,000& x6F 12 7,560
Oflg+Y 50,0002 6 122 3,600
OXg&EA+Y 60,0002 x6H  12& 4,320
M AIRE3S 31,992 28,492 3,500
M SRHE(RINHS) 22X 28282 S 31,992 0 31,992
0=01013 JBRY3
379,758, 1683 *4 . 5% 17,090
O=0UHAUBES 379,758, 1683 *3.495% 13,273
OLQIEIQALEH 13,272,548 %12 .27% 1,629




